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(RN MIMAT Y

a a

1. Thevalueof i b b2 is
: c c?

A) (a-b) (b—c)(c—a)
B) (a+b)(b+c)(c+a_)
C) (a+b)(b—c)(c-a)
D} (@a-b)i{b+c)(c +a)

2X+7 X+4 X+83

X+4 2X+6 X+2|=0,thenxis
X+3 X+2 2x+5
A) -2
B) -3
C)-4
D) -2,-3,-4
X pq
. Thevalueof |p x qlis
g X

A) (x+p)(x+q)(x+p+q)
B) (x=p) (x—q) (x+p+q)
C) (x-p)(x—q)(x~p—q)
D) (x+p) (x+0q) (x-p-q)

1.

1 a a2

1 b b? FIgAd

1 ¢ c?

A) (a-b)(b~c)(c~a)
B) (a+b)(b+c)(c+a)
C) (a+b)(b-c)(c-a)
D) (a-b)(b+c)(c+a)

2X+7 X+4 X+3
IR [X+4 2X+6 Xx+2|=0, 79 x
X+8 X+2 2x+5
BT d
A) -2
B) -3
C) -4
D)-2,-3,—-4
X pq
P X 9| awdrand
P 9 X

A) (x+p)(x+q) (x+p+q)
B) (x—p){(x—q) (x+p+q)
C) (x=p)(x-q) (x-p-q)
D) (x+p) (x+0q) (x=p-q)

SCEM
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1 2 3

4. Findxif[2 x 8|is singular.

3 x 3

A) 11712
B) -11/12
~C) o
D) None of these .

5, IfA=[31 ;) then A2 + 7l is

A) 4A
B) 5A
C) 6A
D) - 5A

6. Iff.-..(1 28 4Jand
3 2 4 1

1 2 3 4
g =( J e S,. Thenfogis

4 3 2 1

(1 2 3 4)

A
)\1243J

B)

C)

D)

Pjagt_a_'N_o. 4

()

A) 4A
B) 5A
C) 6A

1 2 8

8 x 8

A) 11112
B) —11/12
C) o
D) ¥ A =i 7

| E RGO

4. {2 x 8|, dixTFe?

8 12 qa2+ 7102

D) — 5A

|

g:

A)

B)

C)

D)

1 2 3 4
4 83 2 1

T

{1

I
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7.

In the group of non-zero reals
a au:b=-asE and 2x(x* 5)=10, then
X is

A) 25

B) 1

C)-25

D) =1

In-a.group G, the equations ax = b
and'ya = b have unique'solution.
A) True

B) False

C) Depends on a and b

D) Cannot be determined

The direction.cosines of 5 ?__ 4 ,j\-+ 5 fk\

are

=3 4

A) 5v2'52' 2

G =4 1
5 5B
3 A

NN A

-8 -4 -1

D) 5252’ T2

Page No. 5

7. A~ ey e

a *b=l—b3ﬂ'{2-(x » 5)= 108, 7@ x
g @

A) 25

B) 1

C) -25

D) —1

G 9§  ax = b @ ya = b THfiww@
et T §
A) et

B) T
C) a3fitb w fnk ?
D) fruffea =&

A N N
3i-4j+5k F1 SHERN HHaE-q &

e PO
)5J§’5J§'~/§
8 g4t

®) 52’502’ 2

4 1

3
: &) 5J2'5{2"' 2

-8 -4 -1

D) 532572 T2
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10.

11.

12.

The length of the tangent from

(- 3, 1) to the circle 3x2 + 3y2 — 6x
~By—-12=0is

A) 1

B) 2

C) 3

D) 4

The radical axis of two circles is
to the line of centres.

A) Perpendicular
B) Paraltel
C) Intersect at (x,, v,)

D) None of these

Acircle has its centre on y = x, passes
-through (0, 0) and cuts another circle
X2 +y2—4x + 2y + 4 =0 orthogonally,
then its equation is

A) x2+y2—4x-4y=0

B) x2+y2+4dx+4y=0

C) x2+y2—4x+4y=0

D) ¥ +y2+4x—4y=0

10.

11,

12,

A

(-3, 1) BeRieH FaE 3x2 + 3y2—5x
—By-12=0ga a8

A) 1
B) 2
C) 3
D) 4

2w () ¥ Y W,
T Hed BAE | '

A) TR

B) Wee

C) (x4, yy) H FeTR
D) T & FE =l

T g9 o g W y = X WE, (0, 0)
% R T[T 8 3R T I

X2 4+ y2— 4% + 2y + 4 = O eI
Il 8, T ST GHIHTT BT B

A) X2 +y2~4x—-4y=0

B) X2 +y2 4+ 4x+4y=0

C) X +y2—4x+4y=0

D) x2+y2 +4x—-4y=0

5CEM |
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A

13. The eccentricity of the hyperbola 13. FUEA 36x2 - 25y2 = 900 T
36x2—25y2 = 900 is THRifRfR 8
61 61
A) 5 A) 5
Jet J&1
B) 5 B) eE
61 61
C) 5 ; C) =
3 3
D) 5 D) =
14. The foci of the hyperbola 14, TN OY2 - 4x2 =36 T H 2
9y? - 4x2=36is
A) (0,413
A) (013) eI}
B) (0,- 13
B) (o,— 73) o /%)
C) 0+ 13
C) (0.+v13) | )
D a Fig 7
D) None of these ) T G
-q-maﬁm 2 _ peb
15. The directrix of the parabola 18. e B S5y TS O
9x% ~6x + 36y + 19=0is St @
A y=Y, A y=Y
B)y=_12 B) y=_12
C)y=2 C)y=2
D)y=-2 D)y=-2

A -' 5CEM
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16.

17.

The eccentricity of an ellipse, with

its centre at origin is y2 If one of

the directrices is x = 4, the equation
of the ellipse is

2 2
3 4

2 2
B) X_+y_=1
4 3

2 2
C) LA S
9 16

2 2
D) -}-(-—-+y—=1
i6 9

The equation-of the hyperbola in the
standard form if the length of latus

rectum is | % ande = % is

2 2
XYL
7

9

o) (><+2)2_(y+2)2_1
49 81

D) None of these

16.

17.

Page No. 8

I R

TR forg W weaferg SraTe o @
TRRRR ) 1 avr 31 T SRk
X = 4 B, 79 ufRTe =1 wefieon Br 8

A) AN S
8 4

B) X +¥ 4
4503

C) ——+y—=1

D) X Yeu
9

3T Tew Yaen w147 ol

e= % 2, A vved v § duwen =
aefiestur Eran 8

2
A) }_—!—:1
7

x+2° (y+2)°2 _
©) 49 81 y

D) ¥ & #¥ e
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LR A

18.  The equation of the tangent and
normal to the hyperbola x2 — 3y2 = 4

19.

20.

at(—4,—2)is

A) 2x—3y=—-2 3x+2y+16=0
B) 2x+3y=-2,3x -2y =16
C) 2x+ 3y =2, 3x+2y=—16
D) —2x+3y=2,3x—2y=16

If the line 2x + /Gy = 2 touches the
hyperbelaix2 — 2y = 4, the point of
‘contactis

A) (4, \B)

B) (4,-6)
C) (-4, J/6)
D) (-4,—V6)

; 1 -4 =1
+ _Cm oy »
The value of sin [ 2 ( 2 D is
A)-1
1
B) 2
c) Y3
2

D) 0

18. (-4, — 2) WETEe x2— 3y2 = 4 %
T AT AT o1 THI BT @

A) 2x-3y=—2,3x+2y +16=0
B) 2x+3y=-2,3x—2y=16
C) 2x+3y=2,3x+2y=—16
D) —2x+3y=2,3x-2y=16

19. WY@ 2x + Jgy = 2 TE=T
X2 — 2y2 = 4 %) G Wl B 79 e
1 9i5e BT ¢

A) (4,6)

B) (4,-6)
C) (-4, J6)
D) (~4,-/6)

20. sin [%003_1[:‘,51}) T B

* @I 5CEM
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21,

22.

23.

The value of cos(2 cos™'x + sin~x)

atx= ¥ is

B) —-—'2;/6

C)o
D) 1

2
Solve for x : sin~1x + sin~12x = ?n
1 -1
A) E B) —2-
c) 4 D) 2
) 2 )

1), o1
The value oftan™ (Ejﬂ'tan 1[5] is

A)

B) %
c) %

D) O

NE]

Page No. 10

LU R

21. x= % T cos(2 cos™x + sin~1x) &1 |

22.

23.

I ©

B) ———"25‘/6

Cc)o
D) 1

on
sin~'x + sin~12x = = F forw x =t

ARy |

1 -1
A) 2 B) Y
C i'l D) 2
) 2

tan—"! [-;-] + tan“(—%) 1 e AT R
A)

B) %
C) ¥,

D)O

ola

5CEM
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24. The general solution of
4sinx sin2x sindx = sin3x is

nec =xn
X=—+L
A) 3 9

25. The general solution of

€05'26 = /2 (cos0 - sing) for.n

5 . T
) X=2nn+—
A) 5
: ¥

B) X=2nn+—
) 4

T =
C) X=nn+—+=
C) X=| s

D) None of these

2 SR D i
26. - The conjugate of 150 18
8-i 8 +i
A) S5 =) o
8-—i 8+i
SiTer oak

24.

25,
eZis

26.

Page No. 11

4sinx sin2x singx = sin3x =T ST

Hegyr 2

i =«
e
9

A) x=-2

ne =
X=—-=
B) 3 g9

nec =
X=—%— neZ
) 83 9

SN e T
D) X=—2x— ne
) 3 9 0

neZ 3 1T cos 26=42 (cos6 - sing)

T S ey &

1

X =2nm+=

A) 2
B) x=2mc+%

T ®
X=nn+=+>
C) 47 4

D) 31 @ S =i
2+3i
5CEM
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27.

28.

29,

30.

(1 +0) (1+20) (143) ... (1 +ni) =x+]y
then the value of 2.5.10... (1 +n?) is

A) x2+y?
B) x2+y2

2nw
x2 +.y2

C)

D) None of these

The real part of 5ei(n+lan-1 %)) is
A) -3 B) 4

C)—4 D) 3

The real part of 17 cos0415in6 is

A)—_él B)-;-
C) 1 D) -1

Evaluate (J§ —i)9 .

A) 512i
B) 512
C) — 512i

D) —512

Page No. 12

27.

28,

29.

30.

R BRI

(1 +0) (1 +2i) (1 +30) ... (1+ni)
=x+iyRW 2510...(1 +n2) FFIR

A) Yx2+y?

B) x2+y?

2nz

C) 2 y2

D)Eﬂﬁ@rﬁé%"i

5ei("+ta"d%)). 1 fere O 2

A) -3 B) 4

C) -4 D) 3

1

] TS e B
14+ Cos0+isinGg

A) —

1
2 B) 3

C) 1 D) -1

(Jé—i)ga?rwﬂﬁq 2
A) 512i

B} 512

C) —512i

D) -512

5CEM
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R

_y [ cesx dy . cosX dy
i e | ay; Sy .
31. Ify=tan (1—slnx)thendx's 31. WMy = tan (1—sinxj %,Hﬁ’dx
g
1
A) 7y § a
) 2
i
B) o -1
B —
C)o
D) 1 =10
D) 1

Vi+x2 +\/1—x2} .

32. Ify = tan! [

2 ‘( 2
) Vi+x2 —y1-x2 J’
dy .
then —= is dy
e @ Y gt
dx
A : X
) ioxt S
=X
B -X
U B) e
X
X
o op O Frort
D — X
T ey

SCEM
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33.

3,

1+12
1-12
att=2is

2t
If x= and y=1 2 then

TIPS

A)

B) —

NI

C)
D) —

dy

fxY =e¥YXthen =i
en dx IS

2+logx
A (1 -iogx)?
2-logx
(1+logx)2

2+logx
) (1 +logx)?

2-logx
(1-logx)?

Page No. 14

ax

33.

34.

2
R x=1t oy

1-t2

t=2ﬁ%gﬁm§

A)

TIPS

B) —

C)

D=

SN

2t

1-t2 8@

IR XY = VX2, %ﬁm%

2+logx
A 1 10gx)2
2-logx
B) (1+logx)?
2-+logx
C) (1+logx)?
2-logx

D) 1 t0gx)?

https://exams.freshersnow.com/category/entrance-exam-question-papers/
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35. Ifx=sint,y=cosptthen (1-x®)y,—xy,

36.

s

A) p?y
B) —p?%
C) p?
D) ~p?

Ifx2 + y2 = 1 then ¥ is

A) _/ys
B) /ys

C) y3

D) —y3

The angle between the curves
Xy =2andy?=4xis

A) —tan=1(3)

B) tan=1( 1Z)

C) tan=1(1)

D) tan=1(3)

Bage No. 15

35. ¥ x = sint, y = cospt &, 7
(1- XQ)YQ_ XY 4 B d

A) pPy
B) —p?y
C) p?

D) —p?

36. IMx2+y2=12, Ay Bard
A) %a
B) /ya

C) y3
D) ~y®

37. xy=2aury2= 4% @ (ashar) & g

¥ o ()
A) —tan=1(3)

B) tan-1(/)

C) tan~1(1)
D) tan-1(3)

https://exams.freshersnow.com/category/entrance-exam-question-papers/
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38. Thecurves

39.

40.

2 S0 o
X<y

g and
x2 ya

—+=—=1 cut each other
at b

orthogonally if

A) A—-B=a-b
B) A+tB=a-b
C) A+B=a+b

D) A-B=a+b

If the subnormal at any point on the

curve y? = ax Is a constant, then the
value of niis

A) 1
B) 2
C) —1
D) —

The velocity of a particle moving
along a straight line is given by
a+ bv2 = x2, where x is its distance
from the origin. Then the
acceleration of the particle is

A)i? =) =2
c) =2 D) &

Page No. 16 )

38.

39.

40.

(A AT

ehHal (Fad) f—+ﬁ=1aﬂx

x2

e A= =1 0 TR et
(aaaﬁvﬁﬂ)mz?ﬁ%aa

A) A—B=a-b

B) A+B=a-b

C) A+B=a+b

D) A-B=a+b

TFN (FEF) y" = ax F et T forg
(Ul§e) W WeHHT HIHEE B, T n i
oo BT 8

A) 1

B) 2

C) -1

D) -

S et YE & Wy T i Fi
JEfe R a + bv2 = x2, & H x
IfRM @ ferew ?, @@ wiidsw =t
TFITEH B &

=X

A = B) =
C)%? D)%

5CEM
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WA

1.

WS
H

The: volume of a spherical ball is
increasing at the rate of 47 cc/s.
Then the rate of increase of the
surface area when the volume is
2887w ccis

4t
A)—é_

3r
B) —2—

C) 6n
D) 6

Thevalue of j e (f(0) +f/(x)).dx is
A) eXt () +c

B) e*f(x)+c
C) e®logf(x) + ¢

D) None of these

2
Thevalueo_fj" COST X /a > 0lis
S ital

A) 0
B) 1

C)

N A

D)

&2

Page No. 17

41.

42.

43.

THREA (7iver) =T = afE (Sem)
4™ co/s 1 W Fedl 81 919 288 7 o
IRATT (SI) TR TRET et
T e g

47
A) 5

3n
2

C) 6n
D) 6

B)

J&* (100 + £1(x)) dx =1 s B &
A) ) +c

B) e*f(x)+¢

C) e¥logf(x) + c
D) ¥ & % 7t

Iy
2
J‘“°°s X dx, a >0 e g
x 1+a*
A) 0
B) 1

C)

LM

D)

e ]

SCEM
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44, The area of the region bounded by
the curves y=x2 andy = 4x —x2 is

8
A) 3 59 units

64
B) 1E-_.j-—sq. units

3
C) 3 S units

D) None of these

45. If the area enclosed between the
curvesy=axZand x=ay?,a>0is
1 sq. unit, then the value ofa is

1 1
A) 3 B) 73
C) 3 D) 9

46. The area of the triangle formed by
the points (1, 2, 3), (2, -1, 1) and
-1,2,~4)is
A) /598 sq. units

V600
2

B) 8Q. units

C)

§Q. units

V598
2

D) /600 sq. units

Page No. 18

AN

44, W(ﬁ&)y:ﬁﬂy:%—ﬁﬁ
for gorr & =1 fream S

A) 2 sq. units
3
64 .
B) o sg. units

3
C) r 8q. units

D) ¥ 8 % TE

45, IR IA&A y =ax2aq x =ay?, a>0,
HT A dE N &I 1 5q. unit 8, T ‘@
1 YT BT §

1 1
A) 3 B) 7—8-
C)3 D)9

46. (1,2, 3), (2, -1, 1) 3l (-1, 2, - 4)
forgeTt (urem) & wmwn T B =@
& BT &

A) /598 sq. units

B)

sq. units

C) “5:8 sq. units

D) 1hg;c;o sq. units

https://exams.freshersnow.com/category/entrance-exam-question-papers/
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N

}7. The medians of a triangle are
A) Coplanar
B) Orthogonal

C) Concurrent

'D) None of these

If the vectors 2/~ 3j + 4k, 2i + j — k

and Ai — ] + 2k are coplanar, then -

the value of  fis
A) 3
B) 4
C) 5
D) 6

Ifpiis any prime and ais any integer,
then

A) (p.a)=1

B) (p,a)=p

C) both (A) and (B)

D) none of these

If (210, 565) =210 x 5 + 55 k then the
value of'k is

A) -19

B) - 18

C) -16

D) - 15

47. Trepor & werew (werm )

48.

49.

50.
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A) HIRIT (Feeha)

B) 3Tt (Saehivfi)

C) FFeh (T

D) ¥7H & w{ e

IR AT 2i — 3j + 4k, 21 + | — k 3t
A=+ 2KFICE, @ A T BT d
A) 3

B) 4

C) 5

D) 6

R pHE W T a W SRR, @

A) (p,a)=1

B) (p,a)=p

C) (A)aur (B) 3t

D) 7 & =1 e

HR(210, 55) =210 x 5 + 55 k2, ?ﬁk
=T Yo B @

A) —19

B) - 18

C) - 16

D) - 15
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